Er i Use fin definition of inner product: xTy = $\hat{z}_i x_i y_i$ = $\hat{z}_i y_i x_i = y^T x$ $\hat{z}_i y_i x_i = y^T x$

$$\frac{E_{x} 2}{T_{0}} = A(x+j) = A \times A_{x} = A(x) + f(j)$$

$$f(x+j) = A(x+j) = A \times A_{x} = A(x) + f(j)$$

First notice that $A = \begin{bmatrix} a_{11} & & \\ & a_{22} \\ & &$

For the it's column all but element i will be zero. So we get $a_{ij} \times i$. In general, we get $A_{X} = \begin{bmatrix} a_{ij} \times i \\ a_{iz} \times z \\ \vdots \\ a_{m} \times n \end{bmatrix}$.

Ex 6

$$\frac{E_{Y}}{7}$$
We ver smill tricks to the above plus the low of total expectation.

$$E\left[\langle X,Y\rangle^{2}\right] = E_{Y}\left[E_{X|Y}\left[\langle X,Y\rangle^{2}\right]\right]$$

$$= E_{Y}\left[A_{XY}\left[Y^{T}XY^{T}Y\right]\right]$$

$$= E_{Y}\left[Y^{T}E_{X}\left[XX^{T}\right]Y\right]$$
by the substitution low out the fact that X,Y are independent. Now
$$E\left[\langle X,Y\rangle^{2}\right] = E_{Y}\left[Y^{T}TY\right]$$

$$= E_{Y}\left[Y^{T}Y\right]$$

$$= E_{Y}\left[Y^{T}Y\right]$$

$$= E_{Y}\left[Y^{T}Y\right]$$

$$= E_{Y}\left[F_{T}(Y^{T}Y)\right]$$

$$= E_{Y}\left[F_{T}(Y^{T}Y)\right]$$

$$= E_{Y}\left[F_{T}(Y^{T}Y)\right]$$

$$= E_{Y}\left[F_{T}(Y^{T}Y)\right]$$

$$= E_{Y}\left[F_{Y}(Y^{T}Y)\right]$$

$$= E_{Y}\left[F_{Y}(Y^{T}Y)\right]$$

 $\mathbb{E}\left[\frac{1}{n}\times \times^{\tau}\right] = \frac{1}{n}\mathbb{E}\left[\times \times^{\tau}\right]$ $= \frac{1}{2} \left(\int_{C_{i}}^{T} X_{i} X_{i}^{T} \right)$ $= \frac{1}{2} \sum_{i=1}^{n} \mathbb{E} \left[X_{i} X_{i}^{T} \right]$ $=\frac{1}{2}\cdot n C_{X} = C_{X}$

Ex 8